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5 (1) = #est

1 BAOME -FuE, EEGEE

— X ZFEOER Kk — 2
0 EADEE

HDHILFITOCTNESEOHHNOE A 2 &b O (RN L LT 2 b E72b 0) 2 BN
v, BREEMTLLE, HEUFICOVTREDECEHLSIICERSZ L%, 20O
FIZOVWTHENEZDIBEICEMT L L0,
@ ETEOELKEA

(1) K¥EH at+b=b+a, ab=ba

(2) #EEA (a+b)+c=a+(b+c), (ab)c=a(bc)

(3) HEEN a(b+c)=ab+ac
O EEER

(1) m, nDBDIEOEKDE X, a"Xa"=a™", (a™)"=a™, (ab)"=a"b"
m>nDr & a""
m=nnkt% 1

(2) m,nﬁﬁmﬁﬁf;a¢0@ag,%§:

m<nDk& & nl_m
a

LE-Z NG
1 ERX] KoOBWICEZ X
(1) a, b OHIANX —4a*b DR EFRE T V2,
(2) A xPy+ayi—6x+4 % x IZOVWTOEKEARTE X, TORBE ZFHOBRE 2 W2,
(3) KOX%E x IZDOWTHEREDONEIEIY X,
O x*—9x—3+6x—x"—2x2 @ abx—4a+cx*—6x—x*

2 [BRXOME - BiE] KoOFHEEZE X,
(1) @Cx?—x+1)+ (x2+3x—2) (2) 3x®—4x?—5— (2x%+3x2—x+7)
(3) 2(x—2y+3) (4) 3x2—2(x—x?)

3 [EEGER] ko EE X
(1) &*Xa*Xa (2) {(@*®

(3) (—2x%y)° 4) (—6ab?)?+(—3a%)



1 BXOmE - mE BEEN 5

BE (1) B0
A=3x*—xy+6y?, B=4x>—2xy, C=2x>+4xy+2y* DL %, koORX%ZitEE X,
(1) A—B+cC (2) 3(A—2B)—{A—3(B+0C)}

BERE) (1) —Bid —(x*—2xy) £ ( )EDTTRAT 2. () KREMHIILTHORAT 2.
(1) A—B+C=3x?—xy+6v*— (4x2—2xvy) + 2x>+ 4xy+2y?
| =3x2—4x?+2x*—xy+2xy+4xy+6yi+2v2=x*+5xy+yZ-- -
(2) 3(A—2B)—{A—-3(B+(C)}=2A—3B+3C
=2(3x2—xy+6y?) —3(4x2—2xy) +3(2x2+4xy+2y?)
=6x2—2xy+12y*—12x*+6xy+6x%+12xy+6y?2
=6x2—12x%+6x%—2xy+6xy+12xv+12y*+6y*=16xy+ 18y

4 A=x2—3xy+2y% B=x?—2xy—3y% C=2x*—51y20D ¢ %, kOXZHET L,

(1) 2A—3B (20 A—B—(B—30C)
> EEERIRE <«
5 Rko#MT, 2ROMERD L, 72, EORXRPSHEORXETT,

(1) 2x°—x%+4, —14x°+2x+1 (2) %x2—3xy+%y2, %xz—%xy—f—yz
6 KOMWVIZEZ X,

(1) 2x2—3x—5 %5 & x?2—1 2% AR 2RKD X,

(2) —3x*+b5x—1H2565[ & —2x2 12 X 2RD &,
7 RO EE X,

1) (—2a)*x (3a%b®)%= (6a?b)” (2) ny; <—ﬂx2y32) X (—Txyz?)?

’ 15 ’ 25

¢ HERTE o @
8 A+2B=x?>—-3x—4, A—B=5—2x* Dt %, %X A, B#xRDL,
€Yk A, BIZOWTOE T HBRREEZ B,



6 18 #Hekl

2 Eﬁa)/\—t >

— X FEDOES K
0 EXDFREAK
(1) (a+b)=a*+2ab+b? (2) (a—b)*=a*—2ab+b*
(3) (a+b)(a—b)=a’—0b*

4) (x+a)(x+b)=x*+(a+b)x+ad

(5) (ax+0b)(cx+d)=acx*+ (ad+bc)x+bd

(6)

(8)

6) (a+b)’=a*+3a’b+3ab*+b° (7) (a—b)’=a*—3a*b+3ab®—b®
8) (a+0b)(a®*—ab+b?)=a*+b* (9) (a—0b)(a*+ab+b?)=a*—0b®
\_ J
O EXfE 0@
9 [(axd)’'OEH] KORXZERE L,
(1) (2x+3)* (2) (—a+4)*
(3) (3a+2b)* 4) (ax—0by)*

10 [(a+b)(a—b), (x+a)(x+b) DER] KkOXZEHE L,
1) BG+x)(B—x) (2) (2a—30)(2a+30)
(3) (x+2y)(x+v) 4) (a+0b)(a—3b)

11 [(ax+b)(cx+d) DERH] KkoOX%EHE L.
(1) (a+4)(2a+1) (2) (2x—3)(3x+1)
(3) (x—3y)(3x—4y) (4) (3a+4b)(ba—2b)

12 [(axd)’, (axb)(@*Fab+bd) OEE] KkOXZREHE L,

) (x+2)° 2) (x—3y)°
3) (2x+y)° ) (3x—4y)°

) (a+3)(a*—3a+9) ) (2a—0b)(4a*+2ab+b?)

) (2t+1) (4¢2—2t+1) ) (2x—3y) (4x?+6xv+9v?)

o e N

(
(
(
(



2 EROY

>
Y
N

GEROYE):L
KON % B &,
(1) (x+1)(x—1)(x%+1) 2) (a®*+ab+0?)(a®*—ab+0b?

(1) (a+b)(a—b)=a?>—b* DEXEMNT 5. (2) a?+b’=A B E X,

B ) HR=(DEH D= 1=xt L

1 2) @+p*=A rBE, 5R=(A+ab)(A—ab)=A—(ab)*=(a*+b>)’—a’b’
=a'+2a*0*+ b —a’b*=a*+a*b*+ b

13 KORZ R X,

(1) (a—b)(a+0b)(a*+b*) (a*+b*) (2) (2x?—3x+3)(2x*+x+3)
> IFERIE <«

14 RoXZEMHE L.

(1) (Bx—4)(x—2) (2) (4a+b)(2a—3b)

(3) (2x—3)° 4) (a+4d)°

(5) (x+5)(x2—5x+25) (6) (4a—>5b)(16a%+2502+20ab)

15 koX#EERE L.
(1) (a+b+e)” (2) (x%2—2x—3)*
(3) (a—2b+c)(a+2b+c) (4) (2x%—3x+1)(2x%+3x—1)

16 Koz ERME L,

1) (x+Dx—2)(x+2)(x—1) 2) (x+1D(x—2)(x—3)(x—6)

(3) (x—)*(x+y)*(x%+y?)? 4) (a+b+c)(b+c—a)lcta—0b)(a+b—c)
¢ HERE o @
17 x+v=a, xy=b&t32L %, KORX% a, bTHELE,

(1) x*4+y? (2) x*4+y3 (3) x*4y*

(3N, x*+vi=x2+y?) =22 EER L TERD S,



8§ 18 #H&ekl

3 HA#neEl) )

— *kFEOES K

0 HHHE
BRX%, 220U LoBERXOFOTI

O HHBAHOAN

) ma+mb=m(a+b)

) a*+2ab+b*=(a+b)* (3)

4) a*—b*=(a+b)(a—0)

)

)

)

Ry, RESETSI L),

N =

a*—2ab+b*=(a—0b)*

5 x*+(a+b)x+ab=(x+a)(x+0)

acx®+ (ad+bc)x+bd=(ax+b)(cx+d)

(
(
(
(
(6
(

7) a®+b°=(a+0d)(a®*—adb+b? (8) a®*—b°=(a—0)(a*+adb+b?

\ J
o EAfE e @
18 [R2RXDEHAED] KOKX % KEHHE L,

(1) x*+6x+9 (2) 9x2+6xy+y?

(3) a*—10a+25 (4) 8a®—24ab+18b*

(5) 9x%y*—25z2 6) x*yv—xy

(7) a*+4a—12 (8) a*—15a*b—>54ab?
19 R2XRXORHSHED] KOKX% REOMEE Lo

(1) 2x*+7x+6 (2) 2x"+5x—3

(3) 3x*—10x+8 (4) 3x*—2x—8

(5) 6x*—35x—6 (6) 6a*+5a—6

(7) 5a*+12ab+4b* (8) 6a*+ab—2b*

(9) 4x*—8xy+3y? (10) 10a®*—9ab—95?
20 BRACEAPBAHE] ROXERBLHE L,

(1) x°+38 (2) a*—1

(3) 8a*+27b° (4) 125—27x3

(5) 9a®+720° (6) 54x°—16y°



3 RE#nmEt) 9

BIEE (3) V5L A EERSRD
KON % RN Lo
(1) (a*—a+1)(a®>*—a+2)—12 (2) x*+x%+x+1

(1) a*—a=A LBEPZ %, (2) #MAGFDLEE LS LT, HERHERST 5,
(1) a®*—a=A B,
| 5X=A+1)(A+2)—12=A+34A—-10=(A—2)(A+5)
=(a*—a—2)(a®*—a+5)=(a+1)(a—2)(a®*—a+5)-
2) 5X=0*+x)+x+1)=x*(x+1)+(x+1)
=(x+1)(x2+1)-

21 KROKX % WA Lo

(1) (x2+3x—2)(x®+3x+4)—16 2 (x+y)(x+y—1)—12
(3) x3—3x*—x+3 (4) x*—y2+2y—1

> IEHERIRE <«

22 KkoRXENEGHE X,

(1) 7x*—12x—4 (2) ba®—Ta+2

(3) x*—3x"—18x (4) a*b—ab®

(5) (@a—b)’—(c—d)* 6) ax®—(a*+5)x+5a

(7) x°—y° (8) a®—26a>—27

23 ko ENRBGHE X,

(1) (x+y)*—=5(x+y)—14 (2) 2(a—2b)*+9(a—2b)—5
(3) (x+1)(x+2)(x—3)(x—4)+6 4) x(x+1)(x+2)(x+3)—8
(5) x3—4x*—5x+20 (6) x2—y?>—2z%*+2yz

(7) 4Ax*—y*—4x+1 (8) (a*+b*—1)*—4a’d?

& RERIE ¢ @

24 KkoRXEREGHE X,

(1) (x*—=5x+6) (x*+3x+2) —60 (2) 4(ab+cd)’—(a*+b*—c*—d?)’

€Er (DF§, x2—5x+6, x2+3x+2 2 ZNENHENET 5. (2)A2—B?*=(A+B)(A—B) OFH,
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2 (1, = B
[p. 4]
1 (1) ®kE3, R —4

(2) xZOWTEHT L, vx*+(1?*—6)x+4

REL S, «° DEREUT y, x* DEEUL0, x D
FEUT ¥ —6, FEIEIS 4
3) @ —x*—x*—3x—3
@ (c—1)x*+(ab—6)x—4a
2 (1) 3x*+2x—1

(2) x*—Tx*+x—12

(3) 2x—4y+6

(4) 5x*—2x
3 (1) a° (2) a"

(3) —8x%*® (4) —12p°
[p. 5]

4 (1) —x2+13y*  (2)
5 (1) 1 —12x°—x%+2x+5
7 16x°—x2—2x+3

EINCT T
(2) Al =5y +py

52+ xy—Ty?

7= %xz—%xy—Iyz
6 (1) A—(2x*—3x—5)=x*—1%DY
A=3x"—3x—6
(2) —3x2+5x—1—A=—2x> %D
A=—x"+5x—1
7 (1) —%xz3
8 A+2B=x*—3x—4-D
A—B=—2x+5+@
O—-@4&Y, 3B=3x*—3x—9
B=x*—x—3, A=—x"—x+2

—6a°b” (2)

[p. 6]
9 (1) 4x*+12x+9 (2) a*—8a+16
(3) 9a*+12ab-+4b*

(4) a’*x*—2abxy+b*y?

10 (1) 25—«* (2) 4a®—9b®

(3) x%+3xy+2y? (4) a*—2ab—3b*
11 (1) 2a°+9a+4 (2) 6x*—T7x—3

(3) 3x2—13xy+12y2

(4) 15a*+14ab—8b*

12 (1) x°+6x2+12x+38

(2) x3—9x*y+27xy*—27y°

(3) 8x*+12x%y+6xy2+y°

(4) 27x*—108x%y+144xy*—64y°

(5) a*+27 (6) 8a’—b®

(7) 8+°+1 (8) 8x°—27y°

[p. 7]

13 (1) AiHSMEICEBE L TWw L,

(a®>— %) (a®+ %) (a*+b*) = (a*—b*) (a*+b*)
=a*—b"

(2) {(2x24+3) —=3x}{(2x*+3) +x}
= (2x*43)*—2x(2x*+3) —3x*
=4x'—4x*+9x°—6x+9

14 (1) 3x*—10x+8 (2)

(3) 8x®—36x*+54x—27

(4) @*+12a’b+48ab*+64b°

(5) x°4+125 (6) 64a°—125b°

15 (1) a®+b*+c*+2ab+2bc+2ca

(2) x*—4x®*—2x°+12x+9

(3) {(a+c)—2b}{(a+c)+2b}=(a+c)*—4b*
=a’—4b*+c*+2ac

(4) {2x2—Bx—1)}{2x*+(Bx—1)}
=4x*—(3x—1)*=4x'—9x*+6x—1

16 (1) {(x+Dx—DHx+2)(x—2)}
=(x*—1(x*—4)=x"'—5x"+4

(2) {(x+1)(x—6)}H{(x—2)(x—3)}
=(x?—5x—6) (x*—5x+6)
=(x?—5x)’—36=x"'—10x°+25x"— 36

3) {(x—y) (x+3)}*(x*+y)*
={(x*—y?) (x*+y*)}*
=(x*—y")*=x"—2x"y'+y"

@) {(b+c)+at{(b+c)—a}

x{a—(b—c)Ha+(b—0c)}

={(b+o)*—a'Ha*—(b—0)"}

—{a*— 262+ 2c)a®+ (b+c)*(b—c)?

—a*+2a*b*+2a*c®*— b* 4 2b%c*—c*
=—a'—b'—c'+2a’b*+2b°c*+2c’a’

17 (1) x*+y*=(x+v)*—2xy=a’—2b

(2) x3+v*=(x+v)’—3xv(x+v)=a*—3ab

(3) x*+yi=(x2+y?)>—2x%>?
=(a*—2b)*—2b*=a'—4a’b+2b’

(x+y)'=x'+4x>y+6x%>+4xv°+*
0, x*+yi=(+y) —2xy(2x2+3xy+2v%)
=(x+y)* —22y{2(x+ )" —xy}
=(x+y)' —dxy(x+y)*+2x%y?

3 FEs5rEE1)

(x+3)* (2)

8a*—10ab—3b*

L% b,
[p. 8]

18 (1) (Bx+y)*
(3) (a—b)? (4) 2(2a—3b)*
(5) (3xy+5z)(3xy—>5z)

6) xy(x+1)(x—1)
(7) (a—2)(a+6)

(8) ala+3b)(a—18b)

19 (1)
(2) (2x—1)(x+3)
(3) (Bx—4)(x—2)
(4) (3x+4)(x—2)

2x+3)(x+2)





